DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

TBC : 13/18/SET Booklet Sr. No. 130530

Roll No.

SOCIOLOGY
PAPER II

Time Allowed : 2 Hours] [Maximum Marks : 200

=®

o

Q0=

10.
11.
12.

13.
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on the Test Booklet except in the space provided for rough work.

This paper consists of one hundred (100) multiple-choice type of questions. All questlons carry
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of 5 minutes. Afterwards, neither the Question Booklet will be réplaced nor any
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Each item has four alternatives response marked (A), (B), (C) and (D) You have to darken the

circle as indicated below for the correct response against each item completely with Blue/Black
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responses on the answer sheet.
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If you write your Name, Roll Number, Phone Number or put any mark on any part of
the OMR Sheet, except for the space allotted for the relevant entries, which may disclose
your identity, or use abusive lang‘uage or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the Examination Hall. You are however,
allowed to carry original question booklet and duplicate copy of OMR Sheet on conclusion of
examination. :

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy found in the English and Hindi Versions, the English Version will be
treated as final.
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SOCIOLOGY
Paper 11

Time Allowed : 2 Hours] ' [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

R TP S is the law whose purpose is either to punish the person for his

. excesses/violations or to suspend his freedom.

(A) Civil Law (B) Repressive Law
© Adininistrative Law (D) Constitutional Law
9. Value-neutrality was raised by Weber to purge German Universities from the

influence of .....cussssenssvanses .

(A) Marxism (B) Durkheimian
(C) Hegelianism (D) Comteian
3. Marx begins his analysis of capitalism from the analysis of ................ R .
(A) Things ' (B) Ideas
(C) Wealth (D) Commodities
4, Who says that “institutions are the ger;eral and relatively stable ways in which

activities are organized to meet critical requisites” ?
(A) Radcliffe Brown (B) Emile Durkheim

(C) Bronislaw Malinowski - (D) Claude Levi-Strauss

TB.C. : 13/18/SET—II 9
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.~ The problem of “illegitimate technology” is discussed by :

(A) Bronislaw Mélinowski' (B) Radcliffe Brown
(C) Claude Levi-Strauss (D) Robert K. Merton

According to Merton the term ‘function’ means the contribution made by any

item in society to the maintenance of its social ...................... .
(A) Difference (B) Similarity
(C) Hierarchy 7 | (D) Order

According to Merton, those observed consequences which lessen the adaptation

or adjustment of the system are :
(A) Functions (B) Non-functions
(C) Dysfunctions (D) Functional alternatives

Who considers “structure as a model” of social world and ‘not a reality’ among

the structuralists ?
(A) Levi-Strauss - (B) S. Freud
(C) Karl Marx (D) C. Lemert

In which of the book, Mannheim has propounded the idea of Sociology of

knowledge ?
(A) The End of Ideology (B) The End of History
(C) Ideology and Utopia (D) The German Ideology

T.B.C. : 13/18/SET—II 4
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10.

11.

12.

13.

Which of the following methods is used by Harold Garfinkel in his exposition
of ethnomethodology ? '

() The Documentary method

(i) The Breaching’ experiments
(1) The Reciprocity of perspeétives
() The Etcetera principle

Select the correct answer from the codes given below :

Codes :
(A) (@), (i) and (i) (B) (1), (i) and (iv)
(C) @), (i) and (iv) D) @), Gi), @) and (iv)

“The ‘self in modern society becomes a sacred object in the same way that

the collective symbols of primitive societies.” Who propounded this view ?
(A) Max Weber - (B) E. Durkheim

(C) H. Mead (D) E. Goffman

Clifford Geertz is ¢onsidered as :

(A) Cultural anthropologist (B) Physical énthropologist

(C) Psychologists _- (D) Conflict anthropologist

Gidden’s concept of regionalization implies that :

(A) The reproduction of relations not only across time but also space

(B) The process of social change is limited by regions

(C) A regional society starts influencing other societies

- (D) The mainstream society acquires the features of regional societies

TBC. : 13/18/SET—II 6
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14.

15.

16.

17.

18.

Which of the following crises are stated by J. Habermas ?

(©) Economic crisis (i) Political crisis

(tii) Legitimation’ crisis . (iv) Rationality crisis

(A) Economic crisis, political crisis and rationality crisis

(B) Economie crisis, legitimation crisis and rationality crisis

(C) Political crisis, legitimation crisis and ,rationality crisis

(D) Economic crisis, political crisis and legitimation crisis

Which of the following is not the work of Michel Foucault ?

&) Disdgli sl Prsidoment - (B) Capial |

(C) The Order of Things' (D) Madness and Civilization

“The objective of Sociology is to unveil the hidden culture of society”, who
said this ?

(A) C.H. Cooley (B) Pierre Bourdieu

(C) Jacqus Derrida (D) Alain Touraine

Who among the following is the author of the book entitled ‘The Rise of the
Network Society’ ? '

(A) Edward Said (B) Pierre Bourdieu
(C) P. Hills Collins (D) Manuel Castells
M.K. Gandhi’s model of developn;ent is :

(A) Mixed Model of Development

(B) Social Capability Modél of Development

- (C) Sarvodaya Model of Development

(D) Swadeshi Model of Development

T.B.C. : 13/18/SET—II 8
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19.

20.

21.

22.

23.

Radhakamal Mukherjee belonged to which school of thought in India ?
(A) Bombay school of thought (B) Delhi school of thought

(C) Lucknow scheol of thought (D) None of these

G.S. Ghurye talked about : |

(A) Down-to-earth embiricism (B) Factions in Indian society

(C) Suicides among farmers (D) Rurbanism

Growth, development and continuity are found in which of the following ?
(A) Circulation (B) Diffusion
(C) Revolution (D) Evolution

Who among the following is not associated with quantitative social

research ?
(A) Positivism (B) Hermeneutics
(C) Empiricism (D) Induction

Which of the following statements is false in the context to Weber ?

(A) Weber has laid emphasis on understanding the social events on the basis

of cause-effect relationships

(B) Weber led emphasis on development of Ideal type for understanding social

events
(C) Weberian sociology is also called as “Interpretative Sociology”

(D) According to Weber, religion is a capitalistic play to maintain injustice

and oppression in society

I.B.C. : 13/18/SET—II 10
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24.

25.

26.

27.

Who is the author of the book entitled “Annihilation of Caste” ?
(A) B.R. Ambedkar (B) Gail Omvedt
(C) MK. Gandhi (D) Lancy Lobo

Which of the following choices refer to a process by which individuals and

groups are ranked in a more or less enduring hierarchy ?
(A) Stratification : (B) Assimilation
(C) Socialization (D) Differentiation

Which are the characteristics of ‘Dominant Caste’ as given by M.N.

Srinivas ?

(A) Numerical strength

(B) Economic power through onwership of land
(C) Sanskrit education

(D) Political power

Codes :
(A) (@), (i) and (iv) (B) (), @Gi), @) and (v)
(©) () and Gi) " O Gi), (i) and Gv)

Who among the following has done work on kinship in Indian society ?
(A) Suma Chitnis (B) M.S. Gore

(C) Neera Desai (D) Iravati Karve

TB.C. : 13/18/SET—II 12
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28.

29.

30.

31.

Which of the following is not an ethical consideration in social research ?

(A) Protecting the subjects from physical and psychological harm while

’

collecting data
(B) Protecting the subjects confidentiality and privacy
(C) Acquiring consent of the subject in collecting information
(D) Acquiring data through deception
In which of the following types of research, hypothesis is a pre-requisite ?_
(A) Biographical study: (B) Experimental study
(C) Interpretative study (D) Critical research
Whét is triangulation ?

(A) A type of only qualitative method of research

(B) A combination of qualitative and quantitative method of research

(C) A type of only_~ quantitative method of research

(D) A type of only statistical method

Which method Herbert Blumer used for studying human behaviour ?
(A) Inductive method (B) Deductive method

(C) Positivistic method (D) Quantitative method

TB.C. : 13/18/SET—II 14
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32.

33.

34.

When questions of emotional nature are asked by researcher, such questions

are termed as :
(A) Simple questions (B) Difficult questions
(C) Vague questions (D) Probe questions
Match the items in List-I with items in List-II :
List-I  List-II

(@) Historical method (1) J.S. Mill
(b) Invérse deductivé method (2) M. Weber
(¢c) Ideal type method (3) E.B. Tylor
(d) Comparative method (4) E. Durkheim
Choose the correct answer from the codes given below :
Codes :

(@) () (c) d)
(A). 3) (1) (2) (4)
B) @) 4 @ (1)
€ @ 3) (4) (1)
D @) (2) (1) (4)
Range is a measure of :
(A) Central tendency (B) Dispersion

(C) Association (D) Correlation

T.B.C. : 13/18/SET—II 16
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35.

36.

37.

38.

Rapport building is not required in using the following method :
(A) Informal interview. (B) Observation

(C) Formal interview (D) Focused group interview

Which type of sampling method is ideally suited, where there is no knowledge

about population ?

(A) Convenient sampling method (B) Purposive sampling method
(C) Quota sampling method (D) Snoﬁball sampling method
What does objectivity mean in Social Research ?

(@) Accounts for external world

(b) Accounts for internal world

(¢) Represent the world as its exists

(d) Independent of our conceptions

Select the correct answer from the codes given below :

4) (a), ®), ©© B) (), (c.), (@)

C) (), (a), (@) D) (@), (), (d)

Ferdinand Tonnies has drawn distinction between :

(A) Status-oriented and contract-oriented societies

(B) Industrial and urban societies

(C) Gemeinschaft and Gesellschaft

(D) Peasant and tribal societies

T.B.C. : 13/18/SET—II 18
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39. Who has given the formula for calculating rank correlation ?
(A) Ypu_ng . & (B) Pearson
(C) Yules (D) Garett
40. Legal authority stems from one’s :
(A) Party . (B) Office
(C) Person (D) Wealth

41. The habitual way of doing things by a group or society is called :

(A) Norm (B) Value
(C) Law (D) Custom
42. The term diaspora comes from an ancient ............c.cccuuee... word.
(A) Roman . (B) French
(C) Spanish | (D) Greek

43. Identity is linked to issues of power, value systems and ......................

(A) Bureacracy (B) Elite

(C) Ideology (D) Businessmen

T.B.C. : 13/18/SET—II 20
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44.  Match the items in List-I with the items in List-IT and choose answer using

the codes given below :

List-I (Behaviour)

(@ Behaviour of the individual who

occupies a given social status

(b) Behaviour in ways that are

inconsistent with the role

expectations

(c) Behaving in all the relation-

ships by virtue of the individuals

occupying a single status

(d) Behaving in a role that does

not hold
Codes :
| @  ©®
A & @

B) @) (iv)
(C) @) (i)
D) @) (i)

T.B.C. : 13/18/SET—II
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List-II (Concept)
(i)  Role set
(1) Role

@) Role taking

@) Role conflict
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45.

46.

47.

48.

49.

Cultural trait is :

(A) The world view of a people

(B) The smallest identifiable unit of culture

(C) The spread of cultural items

(D) The regular movement of pastoral nomads
Which year budget has established ‘Nirbhya Fund’ ?
(4) 2011 B) 2014

(C) 2010 D) 2013

Which one of the following pairs is correctly matched ?
(A) Kinship usage — Agnates

(B) Classificatory kinship term — Class relationship
(C) Descriptive kinship term — Specific relationship
(D) Avunculate — Paternal uncle

According to ......ccoveriisenansacs the institution of mafriage has passed through

promiscuity, groui) marriage and monogamy.

(A) Historians (B) Evolutionists

(C) Structuralists (D) Positivists

Who elaborated the concept of ‘Direct Exchange’ in affinal relations ?
(A) Robert H. Lowie (B) Alfred Kroeber

(C) George Peter Murdak (D) Claude Levi-Strauss

TRB.C. : 13/18/SET—II 24
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50.

51.

52.

53.

54.

Cultures were supposed to grow from simple to complex and to a more

differentiated type, this is :
(A) Evolutionism (B) Diffusionism

(C) Stages of Development (D) Cultural Area Approach

‘A person referred to as the parent of his or her child indicates the

practice of :
(A) Norms (B) Avoidance
(C) Teknonymy (D) Couvade

The maternal uncle’s special relationship with his nephew and nieces is

termed :
(A) Amitate (B) Avunculate
(C) Patrilined (D) Matrilined

Mark out the incorrect match :

(A) Lineage — Small than clan

(B) Clan —-Composed of various lineage
(C) Phratry — Cqmposed of various clans
(D) Moiety — Composed of various phratries

............................. 1s a study of traditional medicine practice by various groups

especially indigenous people.
(A) Acupuncture (B) Aroma therapy

(C) Homeopathy | (D) Ethomedicine
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50.

51.

59,

63.

54.

TFfa & gHrga ¥ Sieaa # ufafda ekt & o @ iR fafu=rar &t ok St
%,wzmm?ﬁ%:

A) HRfoFmErR (B) VORI
(C) fogm & fafy= =w (D) WFfdw & 3UrH

% e T8 3 9= & AE-foa & ®9 § gefifa fean s &, & 3w 9
sﬁﬁm%

(A) TSI @ (B) Uf@R @l
(C) wreafys gaed &l (D) geydfad
I A SR wefsEl & @y T & foa9e Hey e ®

A) fograsy (B) HGeH™
(C) fugereita (D) e
T e @ TRt
(A) Fd — T § WY

(B) T — faf= we § wfwfea

(C) wiged — fafw= M | wiwfew

(D) 7eg — faf= e ¥ wfmfeaa

......................... ol gl S e w2 e o e P T

F AT T
(A) THTFR (B) 3R Rt
(C) erantef (D) Tonfa fafememnfasm
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55.

56.

57.

The First National Forest Policy of India was in year :

(A) 1894 (B) 1952

(C) 1988 (D) 2000

Match the items in List-I with the items in List-II :

List-I List-II
(@) Chipko Movement () Charu Mazumdar
(b) Naxalbari Movement (i) Medha Patekar

(©) Narmada Bachao Andolan (i) Sunderlal Bahuguna
(d) Ganga Bachao Andolan (v) G.D. Agarwal
Choose the correct answer from the codes given below :
Codes :
(@) ) (c) (d)
A4 @ (@) @) ()
B) @) G (iz) (i)
© @ G 6 @
D) @) @) 1)) (iiz:)
Which of the following does not cause ‘global warming’ ?
(A) Greenhouse effects (B) Rise in the earth’s temperature

(C) Nano-technology (D) Industrial development
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55. YRd I Teeil UK 99 difa 99 H o
(A) 1894 | (B) 1952
(C) 1988 (D) 2000

56. gE-1® < T W B g1 w1 W F Gy faem i

qeit-1 geit-11
(@) fomm ReH 0 TR
(b) THHTATE! A= (i) TE WReH
(c) FHel SN SA=IeH (i) AR SN
d) M =S FRITH (v) . €. e

HE :
(a) (b) (c) d)
A @& G G )
B) @) @ (i) (iv)
(C) @) @) @ (iv)
D @ @G 6 )
57. frefafen § ¥ @ ‘dfvasw Sl T Sa= o € 2
A) e (fERE) g9E (B) Y&t o dHH # ekl
(C) R-vrenfirt (D) oirifie o
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58. P.C. Joshi worked on :
(A) Land Reforms | (B) Factions
(C) Co-operatives | S (D) Panchayati Raj

59.  Which of the following is the essential component of social inclusion ?
(A) Providing Food (B) " Providing Housing

(C) Providing Employment (D) Providing Social Rights

60. Which is/are the possible ways to settle the industrial disputes between

employers and workers by the outsiders ?
() Conciliation
(1) Compromise
(i) Adjudication

(v) Arbitration

Codes : i
A) @), Gii), (iv) (B) (iv) only
(C) (i) only ' D) (i5), Gii) and (iv)

61. What is trade union ?
(A) An association (B) An organised interest group

(C) Federation (D) All of these
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58.

59.

60.

61.

d. & oSl ¥ wm fe ¥

(A) qfE-guR W (B) TSI W

(C) mﬁmﬁ;{z (D) U= T W

frfafen & & S ‘' wmfss wa@yA" 1 smavas s § 2

(A) ISF 39de S (B) 3METE YT FIAI

(C) USTR U HTE (D) wrifSrh PR 3uered YT

el qar FHeRl & i i faert = Tl =i & 20 foen s57%
1 gyifaa /a0 28 ?

@ e

(@) FEg

@) fufoig

() faarm

HE :

(A) @), @), (v) (B) ohad (iv)

(C) aa (iii) g D) (i), (i) IR ()
a9 WY ;MY ?

(A) w9 (B) @ifed fea wqe

(C) weEH D) 3 |t
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62.

63.

64.

65.

From the statements given below choose the code depicting correct answer

to describe the ‘socially constructed génder inequalities’ :
(@) Hormonal and chromosomes difference between male and female

(b) For similarly qualified persons, men favoured over women

(¢) Men and women are thought to have differént physical, emotional and

mental capabilities

(d) Practice of dowry has increased among the educated middle class in India

A Codes :

(A) (a), (b), (c) and (d) , (B) (b) and (c) but not (a) and (d)
(C) (a), (b) and (d) but not (¢) (D) (), (¢) and (d) but not (a)
Nepotism, favouritism and misuse of power are all examples of :

(A) Corruption | (B) Ignox;ance

(C) Social solidarity : (D) Conflict

What was the chapter about women which appeared in the Sixth Five Year

Plan ?

(A) Women and Welfare Schemes (B) Women_ and Development

" (C) Women and Education (D) Women and Health

Which of these is the mainstay of rural power structure ?
(A) State Legislative Assembly (B) Zila Parishad

(C) Block Development Office (D) Gram Panchayat
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62. 9 fu W Fo w oK E A M wd ¥ TH IW F T RS WAINE
FU Y fafdq et SEHEST &1 9UF Hd ¥

(@ 9 AR St F d= i R FeEm el o
®) T ®Y § Arg S o fog, fod & oshan gew w1 ouw foan S

(¢) W v ¢ 5 wew ok foEl § fe-fum wifRes, damers 9o qmfEs
gHad Bl §

d) z%aﬁw'wﬁﬁfmmaﬁﬁagﬁ%
FE
(4) (a), ®), (© 3R @ (B) () 3R () TG (@) I (@) T
©) (@), ®) R (d) WY (c) T D) (), () 3 @) T (@) T&
63. WE-viTER, HAE SR WK F gewEm @il fFEw S ¥ 2
(A) YRR H B) s
(C) wmfSh Fged & (D) wod W
64. TS Tuadty A wfzenell ¥ A § o s Wy fR T on, s@ @ @1 ?
A) wheerd e Fem A (B) Wfeend @ fawE
(C) wfgamd qan fan R (D) wfeamd o e
65. ﬁmﬁ@mmﬁaﬁﬁmmmww%?
(A) T faym | (B) foen uftsg
(C) =il STATHZ A (D) T vErEd
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66. Who studied ‘Baiga’ tribe ?
(A) S.C. Dubey | (B) M.N. Srinivas
(C) Verrier Elwin ~ (D) J. Hutton

67. The expansion of suburbs and dormitory towns have contributed to :
(A) Inner city decay |
(B) Fringe area prdsperity
(C) Large corporations
(D) Super abundance of financial and consulting services

68. Who among the following has propounded the concept of ‘Marginal Man’ ?

| (A) R.K. Merton (B) R.M. Maclver

(C) Robertu Park (D) E. Bogardus

69. Which state of India was the first to pass Zamindari Abolition Act ?
(A) Assam (B) Uttar Pradesh
(C) West Bengal (D) Karnataka

70.  In industrial societies, conflict areas appear when :
(A) Attempts are made to absorb a large labour force
(B) Attempts are made to put machines to wérk and remove workers
(C) Attempts are made to give workers higher. wages and facilities
(D) Attempts are made to minimize profits of the management

71.  The thesis that urbanism is a form of social existence and is concerned less

with internal differentiation of cities has been emphasised by :

(A) Robert Bic;rstedt (B) Louis Wirth

(C) E.E. Berges (D) Louis Mumford
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66.

67.

68.

69.

70.

71.

e’ Sefa R feER sremaR fRa v 2

A) T @ @ (B) TH. . sifyam

(C) R wafa D) . &

STFRI 3R Y (Sffed) wwi & fowmr 3 AwE T
(A) ﬁaﬁmm

(B) dwid & # Jfs

(C) fawga frm

(D) fodita womEHR Fansl #1 STHRY Sged

‘dr qE’ w1 srEERon F wfaued frefafes § @ feed e § 2

(A) 3R & 7 (B) 3R TH. HHER

(C) 2 wreh D) 3. sEH

YT 1 B TEel 9 ¥ e Wl vedt e Sqew sffEw wiia fee 2
(A) ImE™ (B) S| WW |

(C) ufy=m sma (D) FHAlew

st ol 4 e % e 3 E ww

() s sm v W e S W PR
B) s B A e @ R B
©) P W i @ g @

(D) &Y & AW & AR fEm @

W fagm W fem sa ko & f¢ TRiga amifse sfide 1 & 9#R ¢ @R
g 7R & orafies faddiew @ &9 ey § 2

A) T dmes (B) R fad
(C) 3. 3 =g (D) TEH TR
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72.

73.

74.

75.

Daniel Thorner has analyzed agrarian social structure in terms of the following

classes/class :

(A) Income obtained from the soil

(B) The natt'lre of rights

(C) The extent of fieldwork actually performed

(D) All ;)f the above

D.N. Dhanagére has suggested the following model of agrarian classes :
(A) Landlords, rich peasants, middle peasants, poor peasant, rich tenants
(B) Landlords, middle_a peasant, rich tenant |

(C) Landlords, poor peasant, middle peasant

(D) Landlords, r.ich peasant, rich tenant

Who has argued that ‘in the wake of labour exploitation the Indian peasantry

has really taken a class character’ ?

(A) Rajendra Singh (B) Virginia Xaxa

(C) RK. Jain (D) Utsa Patnaik

Which one ’of the following is not correct with regard to peasant ?
(A) The peasant represents little tradition

(B) The peasants in India are predominantly represented by middle strata

of caste hierarchy |
(C) The peasants are dependent on land for the mainstay of their livelihood

(D) Though the peasants are dependent on land for the mainstay of their
livelihood, they resort to several other activities for their livelihood security

I.B.C. : 13/18/SET—II 2R



72.

73.

74.

75.

A o 3 T F ek § P F) wwlE dE e e
(A) T8t ¥ wra et (B) 3fu=ri &1 wgfa

(C) @‘cﬁﬁm%ﬁwwﬁmam) 3 |t

. T R Y P o % Frefated died w1 ggE G ¥ o

(A) Y-wifess, 3R fram, weaw ffam, e fFam, vk Fu fFaer

(B) Y-Hifers, #eAw foham, iR Fwa fRderR

- (C) Y-wiferr, e foram, Aeam foram

(D) Y-wifeh, SR fFam, iR Fwe SRR

fraa ook foar & for 9@ 990 & WRASR WA Y a1 3 T o @i faeand
g |

A) T fog ‘ (B) oSt e

(C) ¥R. &. SH (D) & TE

e R % oy § w 9d A % 7

(A) fram w8 WU % gfafifae s §
(B) W@ # frgR W SR ¥ W o gR e fefw e E
(C) THam srot Sifos frafe & oMuR & fau 4ft w snfym %

(D) TFam Faft srot Sifge frafe smur & fag gft w enfum &, srot Sifaen
e & fou F o= 2 fafafed & 9m o ¥
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76.

1.

78.

79.

Which one of the social movements in rural India can be termed as an example
of ‘Old’ social movements ?

(A) Environment movements (B) Peasant movements
(C) Ethnic movements (D) Regional autonomy movements

Who wrote, ‘Modernity assumes that localities and parochial perspectives
give way to universal commitment” ?

(A) Rudolph and Rudolph (B) Mclver and Page
(C) Yogendra Singh (D) Robert Redfield

Match List-I to the List-II and select the correct answer using the codes given
below the lists :

List-I (Change) List-II (Thinker)
(@) Unilinear @ H. Morgan
‘ (b) Multilinear () Julian Steward
(c) Cyc.lical | (i) A. Toyanbee
(d) Fluctuating (iv) P. Sorokin
Codes :

@ ® © @
A G @ 6O )
B) & G GE) ()
© G 6 @)
O Gi) 6 G )
Which of the fllowing 16 sot & we
(A) Mongoloid | (B) Caucasoid
(C) Negroid (D) Dravidian
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76. T uRd # ferw aivE e B WA qmiE TRied #1 3T FE
T ?

(A) I A< B) feuA =<
(C) IoEg <reH (D) W @R A

71, foREd fown,  snyfrear 1 S wE SUE o gEil e w1 gdedt seeg
wfafda a1 8" 2

(A) TETH AU TSITH (B) ﬁmwﬁa
(C) 9nrs oz D) U Twee

78. ﬁwﬁf@amﬁﬂﬁsﬁ?mwmgﬁ—lmgﬁ—n%mqﬁam
FifeT . '

geit-1 (aftad) _ -1 (Frame)
(@ THEHE G) U= WA
(b) wEE Gi) e o
(©) THE Gi) T
d) T=EE Gv) 0. GRfET

T
@ ® © @
@ G G- O ()
® O G G G
© @ @ G )
® G) O @ @
79. frafafe § ¥ e yonfa & & 2
(A) T (B) Fhrtae
©) e D) e
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80.

81.

82.

83.

84.

85.

Privatization of Education is a consequence of which one of the following ?
(A) Urbanization

(B) Globélizat’ion

(C) Development of Science and Technology

(D) Increase in population

Which of the following is so important for the society that its violation calls

for severe punishment ?

(A) Customs (B). Ideologies

(C) Mores (D) Folhays
Acephalous is the term used to describe societies that are :
(A) Sovereign states (B) Stateless

©) Democracies (D) Republics

Which of these movements is not correct in term of its year ?

(A) Telangana Movement of 1946 (B) Champaran Movement of 1956

| (C) Santhal Movement of 1855 (D) Shetkari Movement of 2000

The term for those related by descent through mother is :
(A) Agnate ’ (B) Cognate
(C) Uterine (D) Consganguines

In which form of exchange, produce of the group is brought together,

either physically or by appropriation and then parallel out again among the

members ?
(A) Gift exchange (B) Redistribution
(C) Barter exchange (D) Money for money
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80.

81.

82.

83.

84.

85.

fren =1 e freffad § @ g TR ¥ 2

(A) TR

(B) St

(C) famm @enm Weifiet =1 fowm@

(D) “HEE ¥ 95

frr & 4 oUW & fg w0 wewd ¥ fr Sw Seem @ i W A ¥ 2
A) fa-fars (B) fo=mem

(©) wfet (D) e

R o 1 ¥ o gue & fau fee S g S

&) T T | (B) TR/

(C) IR (D) OISR
ﬁmﬁﬁaﬁﬂ@aﬂ@mmaﬁﬂ‘éﬂﬁ%?

(A) 1946 1 AT =EIeH (B) 1955%1#@31@'@'—!
(C) 1855 W WUTA IMIH (D) 2000 H ATHR RN
of & e % dw @ WA o v ¥

A Ty (B)mﬁﬂw

) W O

fipg fafrg @ey 8, T ¥ g0 FBRY SR TF WY AR S g A @ i
w1 A 7 fofEm gu ok fR T S & e uda e oS § 2

A) R fafrm (B) AR

-(C) Ty fafa (D) T & e T
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86.

87.

88.

Biotechnology in food technology is related with :

() Pest control

(i) Disease gontrol

(1) Extension of shelf life

() Increased nutritional value of food crops

Select the correct answer :

() (@), (ii) and (iv) B) (), (i) and Gid)

(C) (), (ii) and (v) D) (i),j (i), (iii) and (iv)

The gulf between those who have ready access to computers and the internet,
and those who do not is called :

(A) Digital inclusion (B) Digital plus
(C) Digital divide (D) None of these

The following question consists of two statements, one labelled as Assertion
(A) and the other labelled as Reason (R). Examine the two statements carefully
and select the correct answer using the codes given below :

Assertion (A) : Poverty in Indian rural families is due to too much
technology introduced in the post-independence period.

Reason (R) : Indian rural masses are not able to cope with complexities
of modern-technology due to their illiteracy and traditional
ways of life.

Codes : |

(A) Both (A) and (R). are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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87.

88.

S5 TRt § dem dEfe @ wey €

G e FEEM i) S Fm

Gii) deF WEE W o () @ HEE o g ' H e
wE W MU

A) @), @) =9 Gv) ‘(B) @), (ii) (i)

(€) @), (i) T4 (iv) D) (), (), @) T4 (v)

a%wﬁaaﬁmwézﬁ?aﬁmﬁa%amazﬁmugaﬁ%,wﬁ
T

(A) fefsea gmE@w B) feforea =®
() fefsea feargs D) T ¥ FE W

F3 R A # Q) we T W e (A) § fafed T 9 gRT SR
(R)ﬁﬁﬁéﬁ-%ﬁmﬁmwwﬁﬁﬁmaﬂﬁqwﬁf@vﬁqﬁﬁ
J W SR g |

SR (A) : ST T uRER § T STt 3 WS 9gd A T
T ¥ FWO T | |

FTUT (R) ¢ T T v T arfiren iR aRuReE S-Sl S T L
et 5 Sreemel o gEEen w § wEW @ e

R |

(A) (A) T (R) T T E, 9 (R), (A) F & TR §

®) (A) T R) A T E R (B), (A) F T wLH T T

() (A) F& ¥ W (R) Tow ¢

D) (A) TE[ ¥, WY R) T ¥
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89.

90.

91.

92.

93.

94.

Who conceives the idea of network ?

(A) Barnes ’ (B) Veblen

(C) Young ' (D) Spencer

First time ‘virtual community’ term is used by :

(A) Gene Youngblood (B) Mario Bacelor
(C) Charles Friedman (D) K. Janssen

The class who have a practice of buying and displaying material

possessions in order to indicate or enhance one’s prestige in the eyes of other

is called :
(A) Leisure class (B) Middle class
(C) Upper middle class (D) Elite class

Name the sociologist whose studies of social roles as ‘politics as a vocation’

and ‘science as vocation’ are considered important :

(A) Ralph Linton (B) Max Weber

(C) S.F. Nadel (D) Talcott Parsons

In 1988, which scheme/programme was launched ?

(A) National '-Education Policy (B) National Health Policy
(C) National Population Poljcy (D) National Literacy Mission

The most influential work in the history of the philosophy of space and time
has been done by :

(A) Augusfe Comte (B) Immanuel Kant

(C) W.E. Moore . (D) W.I. Thomas
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89.

90.

91.

92.

93.

M.

Wk & R 1w ey 2 2

(A) g | (B) M

© =Zm - (D) TR

T TEd At wRE v w1 W e

A) S T J (B) =& a&er 3
C) =9 wedd ¥ D) ¥ AT 3

e o fords Wy #) A @ e & o wied ok vev B 3 st
®, TR & TR A @, 3% Feea ¥

(A) wrfgfa o | (B) 5 T
(C) =@ vy o (D) fyera &

U FHSRIE H1 T L 0 st qmites i & wed § ey
A’ IR R T e % w9 d ey ¥

(A) TeF fefem (B) o FeR

C€) W T Ted (D) rHte T

o 1988 H FI Ay/HRE wif (er) w1 R 2

@ T o A ®) T e i
© T wwen A ) i ww fw

WH SR T % @ F e A vl sfuw vmete w9 R d
@) s ER2 Y B) s T 3
© == % |3 D) T=g o o 3
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95.

96.

a7.

98.

99.

100.

How did the spread of communalism help the British ?

(A) It earned the Britishers some friends in the society

(B) It helped the Britishers in preventing unity among Indian people
(C) It provided the Britishers a justification for continuation of their rule
(D) All the above

The genesis 6f religious organization lies in

(A) Initiation and power struggle (B) Oligarchic dechratic tradition
(C) Theology (D) Social groupings

The institutional s.tructure of religion is :

(A) Religious scriptures (B) Priests

(C) Church . (D) Rituals

In India, Information Technology Act \;vas passed in year :

(A) 1999 (B) 2000

(C) 1998 (D) 2001

The ‘Gyandoot Project’ is related with :

(A) e-commerce (B) e-governance
(C) e-tourism (D) e-morality
Until the passage of the ...................... every Hindu was in theory free to marry

a number of women.

(A) Shardé Act of 1930

(B) Hindu Marriage Act of 1955

(C) The Special Marriage Act of 1954
(D) None of the above
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95.

96.

97.

98.

99.

100.

TRC

IS R FIUCEER F Fead ¥ HH e faedt ?
(A) THQ N A A # g fr w fad

B) SRAE # T w GE § s @) e P
(C) 3T H T FW W w e faw @

(D) IgF uft

uififs He 1 St fifg §

(A) v ¥R wiw ge A (B) Tt I FeGHE WA H
(C) wHwre # (D) wHIfeh gt §

v genfiR @ R

A) vH Ty (B) tfed

©) = (D) <A

yRa # gE Wt sfufem ai| e mno
A) 1999 (B) 2000
(C) 1998 (D) 2001

‘TgE A Y ¥

(A) 3-aforg (B) ¥-wRw

(C) 3-wdA D) 3-Afcreha

.................................... 5t Bt s, i T o el & e A & g
WA 9l

(A) TR aAfufem, 1930 (B) o= foere srfufm, 195»5

() favw faare sifufmm, 1954 D) T ¥ +E &
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